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1) The imperial order's passed by Government officials on directions by the Mughal emperor were called: -

1) Kharita

3) Farman

2) Mansoor

4) HasbulHukm

1) "@fur

3)~

2) ~

4)~~

2) The following area were enclosed in Sursen Janpadh : -

1) Bharatpur, Dhoulpur, Karouli

3) Jodhpur, Bikaner

2) !1~ ~ if flMRit<"1 'l{-1WTm:-

1)~,~,~

3)~,~

2) Udaipur, Chittorgarh

4) Sirohi, Jalore

2) ~, Rl8'lsJ1if

4) fuiltr ~

3) To which battle has Badaoni Compared the battle of Haldighati ?

2) DiwerYudh

4) Thannopalli Yudh

3) ~fiiDElIt) ~ Cbl ~ ~ fclffi ~ ~ ~ ~?

1) ~~ 2) ~~

3) ~ ~ 4) tt'"l1qW1"1~

4) When did the first invasion of Malwa by the Marathastake place?

2) 1692AD

4) 1699 AD

2) 1692zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAt.
4) 1699t.

5) In which fort of Rajasthan did the birth ofDara Shikoh (Son of Shahjahan) take place?

2) Taragarh Fort, Bundi

4) SiwanaFort, Jalore

21· • 3

1) Gogunda Yudh

3) Khamnor Yudh

1) 1685 AD

3) 1792AD

4) ~ if ~qr:r lffiC7T ~ ~:g-3lT?

1) 1685t.

3) 1792t.

1) Taragarh Fort, Ajmer

3) Mehrangarh Fort, Jodhpur

https://www.freshersnow.com/previous-year-question-papers/ 



8) In Rajasthan the "Art of Thewa" is related to : -

1) Bikaner

3) Pratapgarh

8) ~ if zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA"i)cW.f)(ffI" Cf5T ~ ~ ~:-

1) G11Cf)1~< '€r

3) 5l(,1I4ll(fl'€r

2) Jaisahner

4) BundizyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JM T

5) !i~ ~ ~~. CflT ~ ~ ~ fetB ~ if ~'*?

l)~~,~ 2) ~,~

3) ihHI"PI(fl, ~ 4) RlqIOIl8:lT. ~

6) Which code does not match'!

Mosque / Dargah

1) Ek minar Mosque

2) Usha Mosque

3) DargahofPeerDuleshah

4) Naliyasar Mosque

Place

Jodhpur

Bayana

Jalore

Sambhar

6) ~F~~~?
~/~

1) ~Cf)41'1H ~

2)~~

3) m ~~Tm rtr ~

4) '1UrtlQlfH ~

7) With which sect are "Dayabai" and "Sahajobai" related to: -

1) Charandasi Sect 2) Jasnathi Sect

3) Parnami Sect 4) Niranjani Sect

7) "~" ~ "Bt:IJj"IGlI~" Cf5T ~ fetB B'Q&IIQ '€r WI ~?

1) iHOI&lm ~ 2) ~m ~
3)~~ 4)~~

2) dlB(ffY< '€r

4) ~ '€r

9) Which amongst the following is not a work of "Isardas"?

1) Hariras

3) SabhaParv

2) RagKailas

4) Chandra Prabodh
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9) f.r9zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAit "fT ~ ~ {(i{a](i C@ ~ ~?

1) m~'B

3) B"l1T ~

10) The Ornament "Newer" is worn on : -

1) On the teeth

3) Around the neckzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

10) ''W'' ~ ~ \JffiIT ~:-

1) c;ful if
3) ll#r if zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JM T

2) WT~

4)~~

2) On the hands

4) On the feet

2) mm if
4) qfcIT it

11) With which are the Compositions 'Gobarhari', 'Daguri', 'Khandari' associated with?

1) Dhurvpad Gayaki

3) Handicraft Centre

11) lf1iiH(;I{\,~,"@Usffi CflT ~ ~ ~?

1)~~

3) (;«1Cfl~1 ~

2) Painting School

4) Indigo Industry

2) RI?lCfl~1 ~

4) -;fu;T~

12) Who is called the founder of modem Rajasthan?

1) Jainarayan Vyas 2) Vijay SinghPathik

3) Mohanlhl Sukhadiya 4) Bhogilal Pandya

12) ~ ~ CflT f.lJOtTOICflflTfcImW \JffiIT~?

1) \J1I'Ol'11<l'Q0 I czm:r
"\ ~3) 'i16"'1@~ ti@ 1I1

13) Who is known as the "Iron Man of Rajasthan"?

1) lamanalal Bajaj

3) MohanlalSukhadiya

13) '~~ ~ ~ ~ 11R \ifffi %:~

1) \JiJOt'11@ ~ q\il]'\J1"

• 3) '1">W1~1~ti@~lIl

2) ~\Jillm(; ~

4) 'l{1l~@~ ~

2) Jainarayan Vyas

4) Damodarlal Vyas

2) \Jill '11<1\!OJ0 I czm:r

4) ~ ~ czm:r

14):·.'When was the "Meena Kshetriya Sabha" established?

1) 1933AD

3) 1943AD

2) 1923AD

4) 1913AD
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14)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA"1fturr ~ B'lTI" Cbl ~ ~ Cbl1lt:-

1) 1933~.

3) 1943 t
15) Who established the 'AzadMorcha'?

1) VijaySinghPathik

3) Munshi Deenanath

15) '~~' Cbl ~ ~ Cbl?

1 ) Rl \i11L1f"B(; qfuq;-

3) :i~Tt~:azyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JM T

2) 1923~.

4) 1913~.

2) Deendayal

4) Baba Harish Chand

1) Udaipur

16) Where did Waltierestablish the 'Rajputhitkarini Sabha' setup?

2) Kota

3) Ajrner 4) Jaipur

16) ~;l ~ ~dCbIRo~ B'm Cbl ~ ~ Cbl?

1) ~ 2) "Cblcr

3) ~ 4) ~

17) Who was nominated the President of 'Harijan Sewa Sangh' in the Rajasthan Branch?

1) Harvilas Sharda 2) VijaySingh

3) Damodar das Rathi 4) .ManikyalalVenna

17) '~"frqr BtT' Cbl {1\i1'"!S111 I ~msrrcnr ~~ ~ ~ ~ .ll(:IT:-

1) ~{Rl~I(1 ~lTW 2) ~ m
3) ~ GRT u3T 4) IOlIfOICROI{i1I~ ern

18) Which code does not match?

Dance Cast

1) RaaiDance - Bhil

2) ValerDance - Garasiya

3) Pani hari Dance - Damore

4) Shankariya Dance - Kalbaliya

18) ~~~;@~?

~

1) ~~

2) cnw: ~
3) qfOl(;ltl ~

4) ~tCbft<:rr ~
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JM T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

19) In Rajasthan the tomb of Jarina is establish in: -zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) Ajmer

3) Nagour

19) ~ -if "~ CflT~" ~%:-

1)~

3) ~

2) Bhilwara

4) Dhoulpur

2) 'l.:fhtlcllS I

4)~

20) The Bundi Kisan (farmer) movement is related to : -

1) 1847 - 1941AD

3) 1926 - 1943AD

20) ~ ~ ~ cor ~ m i:-
1) 1847 - 1941f
3) 1926 - 1943{

2) 1921 - 1928AD

4) 1932 - 1935AD

2) 1921 - 1928zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAt.
4) 1932 - 1935 {

21) What percentage of total area of India does Rajasthan Constitute ?

1) 10.41 2) 9.51

3) 12.61 4) 10.85

21) ~ cor ~ ~ ~ ~ ~ cor ~ ~~"Rf i?
1) 10.41

3) 12.61

2) 9.51

4) 10.85

22) Tropic of Cancer passes closest to which city of Rajasthan?

1) Chittorgarh 2) Sirohi

3) Dungarpur 4) Banswara

22) cnrtt&T~~~;pn~~~~?

1) Rl'ffl~ j Iif

3)~

2) fBiltr

4) qi('lcll~1

23) In which part of Aravalli mountain range does the maximum number of gaps exist?

1) Northern and Central

3) .Central and Eastern

2) Northern and Southern

4) Southern and Western

23) ~ qcldYl(fI1 ~ ~ 'BrT -if ~ B&rr -if ~ fClE:tYI'1 ~?

1) i3ntT ~ ~ 2) i3ntT ~ c:fuuft
3) ~ ~ ~ 4) c:fuuft ~ ~~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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21- •zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA8zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JM T

24) Topography ofChambal basin is dominantly-zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) Mountainous

3) Lime stone

24) ~~CI5T~~: %"-

l)~

3) ~~!?~

2) Ravine

4) Piedmont Plateau

2)~

4) ~ 1::f()"R

25) Bhadar, Erau, Haran and Moran are the tributaries of which river in Rajasthan?

1) Luni

3) Banas

2) Mahi

4) Sabarmati

25) ~ if ~, ~, m:R Jfn: ~. fclm ~ CI5T~ ~ %?

1) ~ 2) ~

3) q.:m:r

26) Where in Rajasthan are the playa lakes formed ?

1) In Luni basin

2) In Ghaggar basin

3) In sand dune free tract of marusthali

4) In inland drainage basins

26) ~if~RCI5T~~~~?zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) ~~if

3) ~ ~ qlt!Cf)I~q ~ ~ if
2)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~·~ii
4)~~~if

27) Leading districts of Rajasthan both in area and production of Soyabeanare -

1) Bhilwara, Jaipur, Dausa

2) Sawai Madhopur, Bundi, Dungarpur

3) Banswara, Udaipur, Chittorgarh

4) Kota, Baran, Jhalawar

27) ft)J<!O~I&H Cf)l ~ den ~ cfr;:if if ~ ~ i3ffiOft ~ ~ -

2) ~~, {eft, ~1) '4'1(11C1ISI,~,.~

3) qiflClI$I, ~, Riffi$llq> 4) eiler, qffi $i1(11IC1t$

28) Major Sugarcane and Cotton producing agro - Climatic Zone of Rajasthan is -

1) Irrigated North - Western plain

2) Hyper arid and partial irrigated region

3) Transitional plain ofLuni basin

4) . Semi-arid Eastern plain

https://www.freshersnow.com/previous-year-question-papers/ 



JM T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

28) ~ q)f ~ TAT ~ cpqffi ~ ~ - ~ @1JgzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAt -

1) ~~-~ife:R 2) ~~~~~~~T

3)· ~ ~ Cf)! ~ ife:R 4) ~-~ ~ "tc:R

29) Which breeds of cow in Rajasthan are most famous for milk production?

1) TharparkarandRathi 2) RatbiandNagauri

3) Malwi and Tharparkar 4) Mewati and Malwi

1) ~mql<Cfj<0fR ui'r
3) 1llWTI 0fR ~mql<CI'l<

2) ui'r~~
4) ilcnm i3lR tnwfi

30) Which breed of camel in Rajasthan is known the best for fast running?

1) Bikaneri 2) Kachhi

3) Jaisalmeri 4) Alwari

30) ~ if i£G rtt ~-m ~ ~ ~ if "BCf~.1lRt ~ %?

2) ~

4) i3lWffi

1) q"ICI'lI~fl

3) ;Jifl~4fl

31) Match-

(WildlifeSanctuary)

A. Bassi

B. Bhainsrorgarh

C. Jawahar Sagar

D. Shergarh

Codes -

A , B

1) 4 2

2) 4 1

3) 2. 1

4) 2 1

(RelatedRivers)

1. Chambal

2. Chambal and Bamni

3. Parwan

4. Orai and Bamni

C

1

2

4

3

D

3

3

3

4

21· • 9
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JM T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

31) ~~-

(~\illq~)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA(~ '1itt)
A.~ 1. ~

B. ~flil91lip 2. ~~~

C. ~mTIT 3. ~

D.!?~ 4. ~~qpFfr

F-
A B C D

1} 4 2 1 3

2) 4 1 2 3

3) 2 1 4 3

4) 2 1 3 4

32) Identify the correct sequencing, from north to south, of the branches oflndira Gandhi canal-

1) Anupgarh - Pugalgarh - Charanwala - Birsalpur

2) Pugalgarh - Charanwala -Anupgarh - Birsalpur

3) Anupgarh - Pugalgarh - Birsalpur - Charanwala

4) Anupgarh - Birsalpur - Pugalgarh - Charanwala

32) ~ TJTm~ c@ !?1T&T3IT coT ~ U ~ $mt ~ -ij q~illP1q -

1) ~ '- 'rIWlip - ill<OJ<:H@- Rl~(1::!<

2) 'rIWlip - ill<OIClI(11- ~ - Rl~(1::!<

3) ~ - 'rIWI(f - Rl~(19)< - tll(OIClI(11

4) ~ - RlB(1::!( - 'rIWlip - ill<SiClI@

i
I
I:

1
~

J

33) Som - Kamla -Amba irrigation project is located in which district of Rajasthan?

1) Udaipur 2) Dungarpur

3) Banswara 4) Chittorgarh

33) "ftlll- COlffiT - i3RT ~ qRIQI\i1'11~ $ fcnB ~ -ij ~ i?

1)~

3) CllflCll91

2)~

4) RlJI~lllip

34) .Which lake of Rajasthan'has been includedin Ramsar.wetland list?

1) Kailana

3) Sambhar

2) Pichhola

.4) Foysagar

https://www.freshersnow.com/previous-year-question-papers/ 



JM T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

34) ~ ~ ~ ~ em- Wlm ~ ~ ~ if ~nfiWrzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAMTIm t-?
1) CbI'Ll<'lI'11 2) ~

3) ~

35) Which agro - Climatic zone of Rajasthan is confronted with triple - faced serious problem of salinity,
alkalinity and water logging?

1) IrrigatedNorth- Western plain

3) Transitional plain ofLuni basin

2) Inland drainage region

4) Humid South-Eastern plain

35) ~ cor ~-m ~-~ ~ <'IClO~'Lldl,~"d"m \i1<'1'k'lICl'1~ ~.~ ~ cor ffilFff

Cfi""{m %?

1) ftW.rff i3m-~ ~

3) ~~cor~~

2) i3Rf:~ \i1~lttHOI ~

4) 3llt ~ - ~ irc:R

36) On what spot has the river Chambal turned to be worst polluted ?

1) Gandhi Sagar Dam

3) Jawahar Sagar Dam

2) Rana Pratap Sagar Dam

4) Kota BarragezyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

36)W ~ ~ ~ 'Rft ~ ~ ~ %?

1) 1llm ffi1f{ GIT~

3) ;:rrcrm ffi1f{ ~

2) UUJT >ffiN ffi1f{ ~

4)~~

37) Golden Quadrant Project is related to the development of-

1) Tourism

3) NationalHighway

37)~~~~%_

1) ~·mm-?t
3) ~ U\IfllTlf fcrcm:T ~

2) Mining

4) Energy

38) What is the length of rail route of broad gauge North Central Railway Zone falling in Rajasthan (2010-

2011) ?

1) 31.17 Kilometers

3) 266.49 Kilometers

2) 52.55 Kilometers

4) 731.60Kilometers

38) , ~ if ~ qWf i3m lfUl ~ \ilR ~ ~ IDs iT\J1" t¥rrf ~ ~ ~ % (2010 -2011)?

fct"''' 5 fct"'''1) 31.17~llilc{ 2) 52. 5~IJilc(

3) 266.49 fctMIJi"lc( 4) 731.60 fcb~"'IJilc<

21 ..•zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA11
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Jl\lT zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

39) Where is the diamond mine located in Rajasthan?

1) Kesarpura

3) Kalaguman

39) ~ if zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAtft tr ~ ~ m.m~?

1) ChB<9><1

3) Cblt:rll24H

2) Jagpura

4) Rajrnahal

2)~

40) Recent Geophysical explorations have certified presence of gold reserves in which mining area of Rajasthan ?

1) Anandpur Bhukia

3) Gulabpura - Augucha

2) Jawar

4) Chouth - ka - Barwara

1) i3iH<el93 ~

3) 2~lq9><1 - ~

41) Gases at low pressure behave as

1) Ideal Gas

3) Ideal Liquid

41) CI1l1 CfCfICr 1:R rro- COT i3lfTWJT tmrr ~

1) i3i1{f%;q~ rro-
3) i3i1{f%<q~ ~

42) Water is alan

1) Incompressible fluid

3) Gaseous fluid

42) trRt ~

1) ~H:j4'l~;q~ ~

3) mnwr q-eJ~~

2) RealGas

4) Real Liquid

2) ~ rro-
4) .~~

2) Compressible fluid

4) Solid fluid

2) ~9:Cf~

4) irB nwr q-eJ~~

43) Gauge pressure is

1) The pressure difference between its value and absolute zero

2) The pressure difference between its value and the local atmospheric pressure

3) That is below the atmospheric pressure

4) All of the above

21- •zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA12
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JM T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

43) il\Jf ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) ~~crW1~~~~~~~~
2) ~ w:rcrm: <=11~1<=1<OI %~%r:nt~~~ ~

3) <=119!"1°s<il1l:( ~ -fr ;fiit ~ ~
4) ~B'4t

1) Newtonian fluid

44) Fluids for which the rate of deformation is proportional to Shear stress is called

2) Hotfluid

3) Coldfluid 4) Non Newtonian fluid

44) m~~fcffiqur rtt ~ ~ d"fTCf % i3i141l"flcnmffi t ~%€t ~
1) ;:q2lf.'li!Fl ~

3) OUST ~

45) Pitot - tube is used for measuring

1) Total Energy

3) Flow Rate

45) fQirc ~ ~ ~

1) ~~

3) ~ rtt TTfu (~)

46) Reynolds number is given as

1) Inertial forces x Viscous forces

3) Inertial forces / Viscous forces

46) ~ ~ ~ m W:T TTi!:JT

1) 1J1i$~~1I:(~ x fil4fil41 ~

3) 1J1i$~"14~ / fil4fil41 ~

47) Coefficient of discharge of an orifice is

1) Theoretical discharge / Actual discharge

2) Actual discharge x Theoretical discharge

3) Actual discharge / Theoretical discharge

.4) Actual discharge+Theoretical discharge

2) l"Jlf ~

4) itI"1;:q2lf.'li!Fl ~

2) Pressure offlow

4) Velocityofflow

2) ~ Cf)f ~ c:qrq

4) ~ C6T irT

2) Viscous forces+ Inertial forces

4) Viscous forces / Inertial forces

2) fil4filql ~ + \i1i$#l1I:( ~

4)filqfilql ~ / \11i$~11:( ~
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4 7) ~ (~) ~ ~ GOTW{Iq:){OI %zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) unRreCf)<'1 ~ (~) / CJI«1PelCb ~

2) crmm ~ x u/1RfuCb~ ~

3) CJHflfclq:) ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAI WIRR(.fJ<'1 ~

4) ClI@f4cn ~ + e:4lRFe4lM~

48) Stream line is defined as

1) An imaginary line in the flow, perpendicular to which is its direction of instantaneous velocity at that
point

2) An actual line in the flow, which is its direction of instantaneous velocity at that point

3) An imaginary line in the flow, tangent to which is its direction of instantaneous velocity at that point.

4 ) None of the above

48) $~.

1) ~ (.fJliAf.i(.fJ MWf ~ ~ ~ ~ ~ lR qmq ~ d~IRiI(.fJ irT Cf5T ffl:~TT~ ~
2) ~ ClI«1fclCb MWf ~ ~ ~, ~ ~ lR qmqzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAin d~IRllCb irT q5T ffl:~TT~ ~

3) ~. CbliAf.iCb MWf i" ~ ~~f 00 ~ ~ lR qmq in d~IRiI(.fJ irT c& ffl:~TT~ ~

4) ~ ~~ m-.fflT

49) Coefficient of contraction is

1) Area of the orifice x Area of jet at vena - Contracta

2) Area of jest at Vena - ContractaIArea of the orifice

3) Area of the orificeI Area of jet at vena contracta

4) All of the above

49) ~ in ~ COT flli"Iq:){OI ~

1) 3fTRRbflCOT ~x;jtc COTcfAT ctit~CfCI cnT ~

2) ;jtc COTcfRr cil~CfCI COT~ I 0ilRfChfl COT ~

3) 0ilf(fChfl COT~ l;jtc COTcfRT ctit~¥1 COT~

4)~~

50) Velocity is equal to

1) 4x angular velocity of a fluid particle

2) 3x Angular velocity of a fluid particle

3) Angular velocity of a fluid particle

4) 2x Angular velocity of a fluid particle
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50) WIzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACOT 1lFf ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) 4x ~ ~~ ?t CflUT ctT ~ llfu
2) 3x c=mrr~~ ?t CEUT ctT ~ TTftr

3) ~ srm~ ?t CflUT ctl\pirm~-%l

4) 2x ~ m-~?t CEUT ctT ~ -%l

51) Impulse -momentum equation is based on

1) Newton's first law of motion

3) Newton's third law of motion

51) ~ ifcrT ~FfICb<OI fc})u 1:J1~ ~

1) ~ ~'lfu ~ ~~ ~ 1:J1

3) ~?t 1lRf~ wfm ~ 1:J1

52) Spear is a part of

1) ReactionTurbine

3) CentrifugalPump

52) ~ ~ ll~fR COT cqrrr ~

1) ~fdf¢b;ql~

3) ff etq;!f I(tI tfq"zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JM T

2) Newton's second law of motion

4) All of the above

2) ~?t1lRf~~~1:J1

4) ~"fI'lft

2) PeltonTurbine

4) ReciprocatingPump

2)~~

4) Rflhi)2bfel t .tfq"

53) Which of the following turbines is suitable for specific speed ranging from 300 to 1000 and heads below
30m?

1) PeltonTurbine

3) FrancisTurbine

2) PropellerTurbine

4) KaplanTurbine

53) f.'r:;f if -€t ~ ~ 300-1000 ctt PcmfGC 1lRfzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAqci 30 ~ -€t q)l1 ~ 1:J1~"WIT?

1) ~~ 2)~~

3) ~~ 4) ~.~

54) Specific speed of a pump is given by:

1) NS= N..jQ
Hl;;

2) NS = N.JP

H%·

4) NS = N..jQzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

H~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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54)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA-qq eN ~ TTffiG5Tfl41f.f){OI ~

1) NS- N.JQ
- H%

3) NS:=NfzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
H/4

55) Impellerisapartof

1) Bucket pump

3) Reciprocating pump

55) ~ fctB" -qq qrr i3l~T%?

1) ~-qq

3) ql~Rf.f)-qq

2) NS= NJPzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

H%

4) NS= N$i

H%

2) Plunger pump

4) Centrifugal pump

56) Reciprocating pump is

I) Volute type pump

3) Diffusion type pump

56) ql{~Rf.f) -qq ~

1) ~ m5 mnR -qq

3) ~~q'f

2) ?Id:SI~,·i\t~f.f)-qq

4) I::F1I«:Gf.f)~ -qq

2} Roto dynamic pump

4) Positive displacement pump

57) The efficiency of a system using a wheel on which flat plates are mounted& a jet of liquid strikes will be
maximum when

1) The plate velocity= absolute velocity of water
, 1

2) The plate velocity= "2 x absolute velocity of water

3) The plate velocity= 2x absolute velocity of water

, 4) The plate velocity= 4 X absolute velocity of water

57) M~rtt, ~rtt~~~tffic~wfrst~ ~qATG5T~ cqmm%, rtt~ ~
~ \Jjq fcn

1) ~ rtt TTffi= qAT rtt~ %l

2) ~ rtt %l = .!.X qAT rtt~ %l
2

3) ~ eN llffi = 2 x qAT eN ~ %l

4) ~eNllffi=4XqATeN~%l

21- •zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA16

https://www.freshersnow.com/previous-year-question-papers/ 



ITzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JM T

58) The maximum angle of diversion of water jet in a Pelton Turbine is

3) 160° 4) 180zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA0

58) ~ ~ if qr;ftzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBArtt mr qjf ~ ~ m-m t-
1) 45°

3) 160°

59) The maximum angle of draft tube is

1) 15°

3) 5°

59) ~~COT~~~%

1) 15°

3) 5°

60) Function of air vessel is to

1) Store the water

2) Reduce the acceleration head

3) Increase the acceleration head

4) To increase the head of a centrifugal pump

2) 90°

4) 180°

2) 20°

4) 8°

2) 20°

4) 8°

60) ~ ~ qjf cwf· %

1) ~qjf'~~

3) t{q4jf&t1!lR ~ en) ~

2) t{CR"1,)Rit~!lR~ en).~ ~

4) ~'~~I(Tl l:jrr ~ ~ rit ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

61) The maximum value of suction head for a pump is

1) 103m of water 2) 100m of water

3) 103mofwater 4) 5mofwater

61) M m l:jrr ~ fW!W-f!lR ~ COT~ llR %

1) 10.3 lftct qAt COTllR 2) 100 ~ qr;fr COT11R

3) 103 ~ qr;fr CfiT11R 4) 5 ~ ~ COT11R

62) Slipis given as

1) Volume swept/stroke - Actual discharge/stroke

2) Volume swept/stroke+Actual discharge/stroke

3) Volume swept/stroke x actual discharge/stroke

4) Volume swept/stroke / Actual discharge/stroke
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64) Differential Accumulator is also knows as

1) Pressure Intensifier

3) Hydraulic Ram

64) ~Cf)1~4(TIzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA(F~:1!!(i\c< COT~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA;rrq ~

1) W ~Oe~q)II!H

3) QI~il~Cf) tq

65) In a hydraulic coupling

1) There is direct mechanical connection between driving& driven shafts

2) No mechanical or rigid connection between driving& driven shafts

3) No hydraulic contacts between driving& driven shafts

2) Pressure RegulatorzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JM T

62) futrq COTwr\Cf){OI t"

1) 5lH©Cf) ~ ~ - qIWWGf) 1ffin mfr / ~
2) ~kl©Cf) ~ ~ + ('.HW~Gf)1ffin mfr /@qJ

3) ~R1@Gf)~ ~ x ql«1NCh ~ mIT /~
4) 5lkl©Ch ~ ~ / ClIWPc!Cf)1ffin ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA/@cn

63) The Hydraulic Accumulator consists of

1) A rotor and a stator

3) A pump and a blower

2) A cylinder and a Ram

4) An injector and a nozzle

63) il(~il[{;(Gf) ~C{ if ffi iRr ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
1)~-{tc:{i3ffi~~

3) tfq-~~*
2) m(ilos( i3ffitq

4)~~~

4) None of the above

2)W~

4) ~ if ~ ~ 'lft -m'

4) None of the above

65) tl(~il[{;(Gf)~· if
1) ~ q ~ cm<Tt ~TrR ~ ~ ~Chf.i45(T1 ~~R itm %

2) ~ ~ ~ cm<Tt ~TrR ~ ~ ~ .'lft ~ COT~Chf."lGf)~~R -m' itm %

3) ~ ~ ~ crrffi ~TrR ~ ~ QI~~[{;(Gf)~~R -m' itm~

4) ~ if ~ ~ 'lft -m'
66) Thermoplastic materials are those materials which

1) Are formed into shape under heat& pressure and result in a permanently hard product

2) Don't become hard with the application of heat and pressure and no chemical change occurs

3) Are flexible and can withstand considerable wear under suitable conditions

4) Are used as friction lining for clutches and brake
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66) ~lOil'kf1lfkChilRRt'HflzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif ~ ~ \J1l

1) lPff ~ mq if ~Nif ~ ~ ~ Q<410ie:mt ~ CR \Jfffi ~

2) ~ illlPff ~ .~ -fr m tmf % \3fR ;U tr Gb~Ch~qRctd'1 iTill ~.

3) ~ ~~ ~ ~ couit~R if ftRm ~ ~

4) r.wrq ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAw.n c@ ~~R ~ if q)[l{ ~ ~

67) If a particular Pe-C alloy contains less than 0.83% carbon, it is called

1) High carbon steel

3) Hypereutectoidsteel

2) Hypo eutectoid steel

4) CastIron

67) m ~ -rwR \3ffi#:r if rwR qft +rr:n 0.83% -fr em ~ % ~ ~ ~

1) ~ rwR ~ 2) ~ ~9>eChe:T~s~
•..

3) ~ ~'91~Chd~s~ 4)~~

68) Two shaftsA & B are made of the same material. The diameter of the shaftA is twice as that of shaftB. The

powertransmitted by the shaft A will be of shaft B

1) Twice

3) Eight times

2) Fourtimes

4) Sixteen times

68) m ~1ll:fGA ~ B ~ tr ~ qft q.ft % I ~1ll:fGA q)f ClITB B ~ ClITB -fr ~ % I ~1ll:fGA zm q'fcn: ~~R

~1ll:fG B q)f -mr
1) ~

69) The design of shaft made of brittle materials is based on

1) Guest's theory 2) Rankine's Theory

3) St. Venant's Theory 4) Von rnises Theory

69) ~ -qGJ~ C(ffil ~ ~. ~1ll:fG~ f%\i1I~'1 ~ ~ tR ~ ~?

1) ~q)f~ 2) ~.~.

70) The interference in cycloidal teeth

1) Is absent completely

3) Depends on conditions of meshing

2) Depends on number of teeth

4) Depends on pressure angle

70) ~1~CR'1Tqs~ tT~ (-e:m) if ~'"?:<f<I?q~fI

1) f&l~':!l~~ ~ %
3) ~~Wrc@ wmr·tR f.f+h: ~ %

2) ~ em ~ tR f.f+h: mill %

4) mn c5TurtR f.f+h: ~ %
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71)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBALewis equation in gears is used to find the

1) Tensile stress

:'\)icontact stress

2) Beam strength of the tooth

Lt' Fatigue stress

71) rn:rr it q)J+lil Bt ~ qffif ~ ~~R it CRIT ~ ?f){ ~ ~ I

1)~ $1 2) ~ c€r cftq ~~

72) In av-belt drive, the belt makes contact at

1) Bottom of the pulley

2) Sides of the groove of pulley

3) Sides of groove and ?ottom of pulley

4) Could make contact any where

72) cft~~ij~q)l~

1) ~ it ~ it mm ~
2) ~ it ~ it m.=rr ~ it mm ~
3) ~~itm~~ittr%#~~
4) com m m "fI'CfmT ~

73) Sensitiveness of a governor is defined as

1) Rang,e of speedzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAI Mean speed

3) Mean speed+ Range of speed

2) Mean speedx Range of speed

4) Mean speed - Range of speed

73) ~c€r~~mmm~
1) llffi c€r trr I ~ llffi
3) ~ llffi + llffi c€r trr

2) ~ llffi x llffi c€r trr

4) ~ llffi - llffi c€r trr

74) The range of speed in an Isochronous Governor is

1) 00

3) Zero

74) 0i I~<-i)d1'i fI ~ ij llffi c€r trr m-ffi ~

1) 00

3) Zero

2) 100m/sec

4) lOm/sec

2) 100m/sec

4) lOm/sec

75) A body which is spinning& free to move in other directions under the action of external forces is called

1) Governor

3) Differential Gear Box

2) GearTrain

4) Gyroscope
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75) ~ ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACfiRUT ~ ~ ~ ~~TT if ~ ~ ~ fiq;:r qmft % ~ ~ ~

I) ~ 2) fTr:n ~

3) ~"h~R=tlli.'l fiT<:R ~ 4) JII£'~mq

76) For light loads& shafts at any angle the gear used are

I) Bevel Gears

3) Crossed Helical Gear

2) Worm Gears

4) Square Gears

76) q)ll 1W ~ ~m~~ '1ft cnluT it m- ~ fWt CflA- B fTr:n CWl if #Rr %
1) ~ ~ 2) qpf ~

3) ~ ~ fTr:n 4) mm fTr:n

77) For Iw = mass moment of inertia, Ww= angular vel. of wheel,WpeAngular velocity of precession,
Gyroscopic couple due to four wheels is given as

1) Cw =4 Iw. Ww.Wp

3) Cw=4Iw-Ww+Wp

2) Cw=4Iw+Ww-Wp

4) Cw = 4 Iw.Ww/Wp

1) Cw = 4 Iw. Ww.Wp

3) Cw=4Iw-Ww+Wp

2) Cw=4Iw+Ww-Wp

4) Cw = 4 Iw.Ww/Wp

78) A gear train in which axes of gears have motion are called

1) Simple 2) Compounded

3) Reverted 4) Epicyclic

78) ~ ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAfurBii f&> flr:rit ~ y;): '1ft ~ %, CbQi.'IIffi %

1) m'tffilJT

3) ~.

2) CbJqll30gg
4) ~fq{1I;qf#1<:fj

79) Maximum variation in tractiveforce of an engine in locomotive is given as

1) ±..fi [(1+zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAC)mrw
2
]

3) ± (1+ c).fi I mrw2

2) ±(1+c)mrw21..fi

4) ±(1~ c)mrw2 ..J2

1) ±..fi [(1 + Cvmrw' ]

3) ± (1+ c).fi I mrw2

2) ± (1+ c )ntrw2 l..fi

4) ±(1- c)mrw2 ..J2zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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80) For balancing a four cylinder Ie engine the crank shaft must have (in its crank)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) Balancing weight at the same location

2) Balancing weight at9oo interval

3) Balancing weights at 45° interval

4) Balancing weights at8oo interva~

80) M 4 fB«tos< ~ ctt ~ ~ ~ ~ !1m rtt ire W-mf ir1T

1) ~~itc~~ii~

3) ~ itc 45° ~ ~ 'R M
2) ~itc 900~~'R~

4) ~ itc 80° ~ ~ 'R ~

81) If a rotating system is dynamicall y balanced, it is statically

1) Balanced

3) Partially balanced

2) Unbalanced

4) None ofthe above

81) ~ ~ ~ ~ TJffi!lTWr ~ %, m ~ WR Wl it

1) ~ ~ % 2) 0l(itl~ct %

3) ~~% 4) ~'4T~

82) In a spring mass system, if the mass is halved and the spring stiffness is doubled, the natural frequency is

1) Halved

3) Unchanged

2) Doubled

4) Quadrupled

82) ~ fclffirmpr-11m WJmT\tij 11m;mm ~ ~q WT ctt RcCfi~+1~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~.e:m ~ ~ ~ firm

1) i3W-fi 2) ~

3) ~ qzyrrq ~ 4) ~

83) Isentropic efficiency ofa turbine is given as

1) Actual work output / Isentropic work output

2) Isentropic work input / Actual work input

3) Actual work output x Isentropic work output

4) Isentropic work input x Actual work input

83) M~ rtt 0i1<:pJ~fClCf) ~ mm %

1) <:mct~Cf) ~ q)f 0i1i£c~c / 0i111Ol~kJfClCf)com 0lkhc~c

2) 0lII1OlB~fClCf)~ ~ / cmctfCiCf) .~ cnr ~

3) qp;~fCiCf) ~ 0l1i£c~c x 0iII1OlB~fClCf)~ 0i1l3?c9;c

4) 0i 11101~.~fCl Cf) "Cf)fif ~ x q HflfCiCf) cor4 cnr ~
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84) Degree of reaction for a compressor is

I) Enthalpy increase in rotor / Enthalpy increase in stage

P.. 2) Enthalpy drop in rotor / Enthalpy drop in stage

3) Enthalpy increase in stage / Enthalpy increase in rotor

4) Enthalpy drop in stage / Enthalpy drop in rotor

84) ~?it ~ i3lfcn ftircF~RzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAmffi" ~

I) ~ll~~?it~/~if~~rtt~
2) ~ll~~ctT~/~if~~ctT~
3) ~if~M?it~/~B~~ctT~
4) ~if~~ctT~/~iltt~?it~

85) Dimensions for force is given as

1) MI.?!,"l

3) MLT-2

85) m?it ~~R C1ffli ?it\jffffi %

2) MI}T2

4) ML- lT-2

1) ML2Tl

3) MLT2

2) ML2T2

4) ML- lT-2

86) The function of a diffuser in a centrifugal compressor is

1) To convert pressure energy into kinetic energy

2) To convert the kinetic energy pressure rise

3) To maintain constant pressure

4) All of the above

86) ~'¢l~I(iI ~ if ;(%lfLL\i1{ q)f ~ ~

1) W ~ <it TTffi '3?\ilf it qRqRfct ~
2) ~ ~ ~ w ~ B qRC4R\d CfWIT

3) W~·w:rR~

4) iNiTm B'lft

87) The pressure rise in a blower is

I) 3-5 bar

3) 0.07-3 bar

87) t:% ~i3R if ~ ~ mffi" % ~

I) 3-5 ~

3) 0.07-3 ~

2) 20-30 bar

4) >5 bar

2) 20-30~

4) >5~
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88) Which one of these is a turbo machinezyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) Car

3) Motorcycle

2) ICengine

4) Fan

88) ~ -B- ~ ~ ll~lR %

1) ~

3) ~ fll<OICfjijJ

2) ~:~~

4) 1furr

89) In equation of energy for turbo machine

E=~{(C;zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA-C;)+(UzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAJ

2 -U;)+(W22 -WJ

2
)}

I n ill

I term is known as

1) Reaction Effect

3) Impulse Effect

2) Thomson Effect

4) Noneoftheabove

IzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAIIIII

Ivf Cfj (;ijJ I \1"1 %

l)~R~

3)~~.

2)~~

4) ~ 1fr~

90) The compressor isentropic efficiency in terms of pressure coefficient(qJp) slip factor (p) and power

input factor (Pif) is given by

1)
Pif x f.J

2) Pif

n,= tfJp
1] =--

c f.J x tfJp

3) P x r/>p
4) 1]c

«n, = p
Pif x Pif
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2) 17, ,~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
u x r/J

p

r/JzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
p

Pi! Xj,i
4) 17c

91) In a multi stage axial flow compressor, the axial velocity at higher stage is

I) Small

3) Remains Same

2) High

4) None of the above

2) ~

4) \3Q{)CR'1 if # c6lt m ~
92) The Compressor used in blowing of plastic bottles made of polyethylene terephthalate (PET) is

1) Centrifugal type

3) Reciprocating type

2) Axial type

4) None of theabove

1) ~~~11:'1

3) R{1"rSlI$.feJI

2) qRffl<Ol1:'1

4) ~ if ~c6lt m 1tf

93) Cast Iron, Steel, Copper& its alloys, aluminium & its alloys are represeIlted by0_
3) I:: : :',I

2)

4) ~ ~ ~ ~l
93) ~~, ~~~~ ~, q{R{~H<Olq ~~ ~~if~~ w:rifqfUffi~ ~I).

3)~ 4) ~ ~ ~ ~ ~

M) For manupulating the text and extension lines of selected text objects, the command to be given is

1) Extline

3) Textobj

2) Dimedit

4) None of the above

11..•zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA25
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1) Extline

3) Text obj

2) Dimedit

4) ~1fU~'4t~

95) For using cartesion coordinate the symbol to be put up before the coordinate value iszyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) X 2) @

3) Y 4) Z

95) ~R Cf)M~c t ~ ~ ~ COJil if ~~ ,

1) X

3) Y

96) A feed check valve is used in

1) Boiler feeding water line

3) Basement tank

96) ~ ~ cmrq ~ COJil 11 0lffiT %

1) ~t~ctT~~if
2) ~ ctT~ q"{qATctTzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAictT t ~
3) @f en: t qATt ~ ~ ~
4) ~ if U~ '4t-.:rtT

2) @

4) Z

2) Over head water tanks in houses

4) None of the above

97) Spigot &,socket joint is used in

1) Connecting of CI pipes in underground installation

2) Connecting GI pipe in domestic pipe fittings

3) Connecting Plastic pipes

4) Connecting two shafts

97) WI" 1ftc ~ ~ ~ com COJil0lffiT ~ I

1) mm~.mt~~~~~if
2) tffirr ~ fqjfbT ~ if
3) 'kfIIRcCfJ ~ ~ if .
4) G) ~w:fC~ 1f

98) A pure substance is one which

1) Has under gone a chemical reaction

2) Is chemically homogeneous and fixed in chemical reaction

3) Is physically seen as homogeneous

4) All of the above
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98) ~ ~0zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAtr qfrqrqr l

1) ;if (tfq4)M m~ ~ ~ ~ m
4 2) ;if Chf&lCf)&t1 ~ ~ it ~ ~;>m<r ~fuQh<!o!1~ if ~ it

3) \riT fcn ~ ~ ~ it
4) ~ri

99) Which of the cycles below is not a reversible cycle

1) Carnot

3) Joule

99) ~~~~~~%

1)~

3) ~

2) Ericsson

4) None ofthe above

2) ~~R

4) i31Rrmif B" ~ m ~
100) During change of phasefrom ice to water the specific volume

1) Increases 2) Remains constant

None of the above3) Decreases 4)

100)qrt ~ ~ ~ ~ ~ ~ cor ~ ~

1) ~,

3) q;;{ 31m'
2) ~ qRqd'1 .~ irnr· %

4) ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif B" c6r{ m ~
101) ClapeyronPI equadon I.used for

1) Evaluatinl tpIClftc volume at any temperature or pressure

2) EvaluadnlllD.,....aure at any pressure or specific volume

3) Evaluatin • .,....... any temperature or specific volume

4) NoneoftheaboYo

101)#iQ<I'1 ~4t.\" ftIwaIf .srnrrt
1) M~mqJR •••••• q't ~ ~ BNTfT

7) M~~.ffaftI'C~lR~~~
3) ~~~"Mrz~1:RGJq~CR'1T

4) ijqmlPt'" tft 'Iff

102)ln a throtling pnx:atlilathalpyof the substance

1). RemainsCMlClfl

3) Decreases

2) Increases

4) None ofthe above
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102)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~)CPill ~ it ~M
1) -3jqRClRid ~ %

3) COl1mill ~
2) ~%
4) ~ittt~~~

103)Entropy is

1) An Intensive property

3) An isentropic Property

2) An Extensive property

4) All of the above

103)~~

1) ~~~

3) -3i1;qftl~fClq:) ~ ~

2) l{cru~~CI ~ ~

4 ) 13q (lCffi B'ltT

104 )In a vapour compression refrigeration system the lowest temperature during the cycle occurs after

1) Compression 2) Condenser

3) Expansion 4) Evaporator

104)m ~ ~~R WJTTffi if ~ COl1 ~ ~ ~ ~?

1) ~~Rit 2) ~it

3) ~~R if 4) ~c(ltine<it

105) Efficiency of Diesel cycle is given as

p = cut off ratio

1
1)1--·-zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

(ry-I

1
2) 1+--

(ry+!

1zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA[pr -1 ]
3) 1--(r-y--I-'-r(-p-_-l)

4) 1__ 1_[ pr +1 ]
(ry-l r(p+l).

1) 1__1_
(ry-I

1
2) 1+--·

(ry+1

3) 1 1 [pr -1 ]
(ry-I r(p-l)

4) 1__ 1_[ pr +1 ]
(ry-I r(p+ 1)

106) Thermal conductivity of materials decreases in the following order

1) Pure metal, alloys, non metallic crystalline amorphous, liquid, gases

2) Pure metal, non-metallic crystalline amorphous, alloys, liquid, gases

3) Pure metal, non-metallic crystalline amorphous, gases, liquid

4) None of the above
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106, ••• '1ft ~ chsFckwtlzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAf.f9 ~ it ~ ~ omft t
I) ~, ~,~, Gb~MI~1~. t'mIf. fn:f

2) ~ .. mnsI, Gb~iTll~1 ~, .rr.. ~. 1m

3) ~, ~, ftb+CMI~OOf~I "", '""

4) \34(lEffi i{ it ~ m'itl

107) The heat flow per unit manhour •••• of l'Idlua fj at inlet & r0 at outlet in one dimensional is given aszyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

_ 4Jrk(I; + T" )
1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAq- 1 IzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

~+
Ii r••

4flk(T, -T)
2) q l1li 1 1

-+-
'1 ro

3) III 4Ilk(1( + r,,)
q 1 I

1)
- 4Jrk(I; + To)

q - 1 1
-+-
'i ro

4Jrk(T +T)
3) q = I 0

1 1

_ 41l'k(1j - To)
4) q - 1 1

108)The relation' among nusselt no, prandtl no& grashof no is given as

1) Nu••• 0.508PrfS(O.952+ Pr)-y,;Grxy,;

2) NU.1II0.508Pr"'(O.952-Pr)-y,;Grxy,;

3)

4)

-1/ 1/
+ Pr) 74Grx/2
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109) The monochromatic emissivity at same wave lengthzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA& temperature of a body& a black body is given as.

1) Monochromatic emissive power of a black body / monochromatic emmiscive power of the bodyzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

2'Y1Monochromatic emissive power of a black bod x monochromatic emrniscive power of the body

3) Mounchromatic emmissive power of bodyx monochromatic emmissive power of a black body

4) Mounchromatic emmissive power of body / monochromatic emmissive power of a black body

109)M ~"BllR #rrT ~ ~ ~ -.:n:~ m'f.m1JT q ~ cifir rtt ~ d'li1RCf) qf?lroPcl€l m-rTl

1) ~ ~ rtt ~ d'li1R;Cf) ~fClroRl€t / m'f.m1JT ~ rtt ~ d'li1RCf) qfCIroPcl€l
2) ~ ciiit rtt ~ d'li1R;Cf) qf?jro~tl X ~ ~ rtt ~d'li1RCf) qf?jR=tPcltl
3) ~ ~ c6t ~ d'lilR;Cf) ~f?lroRl€l X ~ ~ rtt ~. d'li1RCf) ~fClroPcl€)
4) ~ ~ c6t ~ d'lilRCf) qf?jR=tRltl / ~ cifir rtt ~ d'li1R;€f) ~fClfBRI€)

110)L~isnotusedin

1) Counter flow double pipe Heat exchanger

2) Parallel flow double pipe heat exchanger

3) Shell and tube heat exchanger

4) All of the above

110) LMTD com CfiT11 "ij -.mt ~ ~ %1

1) ~ l:R<lT Sqi<lql~qme qcrutl\J1{ "ij

2) ~ l:R<lT sqi<lql~q me ~crutl\J1{ "ij

3) ~ ~ ~ me qcru~\J1{ "ij

4) ~B'4t

111) Thermal stress PI in a Beam of length L, subjected to tempt with coefficient of expansion a is given as

1) Lat 2)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAE

at

3) LaYe 4) Eat

111)~ L ~ Cf)T ~ rit ~ t '~ -.:n: 11lf. coB -.:n: ~' PI~ "$1 m-rTl1 ~ ~ Cf)T fcrmR
a~\3lT

1) Lat 2) ~
at

3) La:le 4) Eat
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1I 2) Mohr'.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAcircle is used to findout

I) Principal stresses& Principal planes

2) Oblique stresses& Oblique planes

3) Both of the above

4) None of the above

112)~ ~ # ~ ~ q;ffi ~I

I) filmq(1 ~ ~ rnf~NM~

2) ~ ~ ~ ~ fiMm_-·.,,*lWi<""~[

3)~~

4) ~ 1l ~ ~ 1ft ifif

113)For asimply supportedU\OiGIIU·~"_

1) WU /74zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA,2)WL4/8

3) WV /8 t;";f~;.~j'i;\rf~ ..•,\vli 18

113)fc6m ~ ~ ~ 'R ~ ~ ~r.\t,.. '• .,mi3'« q'{ ~ ~ ~ tnTTTl

1) WV /74

3) WU /8

114) Haigh's theory is also known as

1) Maximum shear strain energy theory

2) Maximum strain energy theory

3) Maximum shear stress energy

4) Noneof theabove

114) trr a:ftfr lfiT\WT ~ %

1) ""''!R''' ~ $r ~ ~
3) ~"ttRI" ftrcn ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

2)W1:.4/8

4) WL."/8

2) ~ $r ~ ezirt
4) ~ ~ ~ ~tfT '1tf

11S) PolarDlOIDDDt of inertia of a hollow circular shaft with inner L outer diameters of d and D respectively is
given.
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115) fc5m l:Ilm ~ !/WR GfiTzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAr:ilw: JO{)4"CICfl ~ WIT (!/WR q5T~ L ~ ~ DzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAq ~

a:rn1 d t-
1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~(D2 _d2)

32

3) ~(D4 +d4)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
32

116) 1------------IThis line represents

1) Visibleout line

3) Centre line

2) Hiddenout line

4) Breaklines

116)1-----------.1 ~ C:~mfr%

1) ~~'qmftoo

3)m~

1)1&11

3) II&IV

2) III&IV

4) I&ill

117)Which ofthe two quadrants are closed to represent the objectin a plain drawing,sheet

1) I&n 2) III&IV

3) II&IV 4) I&ill

117)fc5m ~ coT~·mc it ~ ~ ~ riR -fr~ ~ ~ ~

118)The object is between the plane and eye. This happens in which projection method

1) I angle projection method 2)II angle projection method

3) ill angle projection method 4) IV angle projection method

1) Iangle projection method

3) ill angle projection method

119) Sectioning ofthe objects are done to see

1) The material

3) The 3-D image of theobject

119)fc5m ~ GfiT WRR ~ ~ ~ I

1) 4'RRlIi!! ~ ~ ~

3) ~q5T3-D~~~~

2) II angle projection method

4) IV angle projection method

2) The details of the object

4) None of the above

2) ~coT~"~-fr~~~
4) ~ if -fr~ .qr ~
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120)1'helize across flatsfor a hexagonal nut for bolts of more than 12mm dia is

I) LSD+6mm 2) 1.5D+3mm

3) 1.5 DzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA+ to lllW 4) 1.5 D+ 12'~~m

120)ftnm 12 mm"fl· ~ Clj"ffi ~ ~ ~ fW!: -re ctt ~ ~ q#rc ~

I) 1.5 D+6mm

3) 1.5 D+ 10mm

2) 1.5 D+3 mm

4) 1.5D+ 12mm
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